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2. This test consists of 100 questions (Q. Nos. 1 to 50 Mathematics, 51 to 75 Physical Science, 76 to
100 Biological Science).

3. Each question carries one mark.

4. Blank pages are provided for rough work at the end of question paper.
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MATHEMATICS

. Ifthe HCF of 65 and 117 is equal to 65m — 117 then the value of 'm' is ( )
65 80117 © K352 65m — 117 & $&e$o @ond 'm' Dend
A)1l B)2
03 D) 4
. By which digit the value of 42020 ends 2 (i.e. what is the digit in the units place of the
expansion of 42020 ?) ( )
42920 ens & €088 ot ? (42020 % D567 O @Y by FBoSD w08 ok ?)
A)2 B) 4
)6 D) 8
. If one of the zeroes of the quadratic polynomial (k — 1) x% +kx + 1 is'=3" then the value of
k' is e ( )
(k—1)x* +kx + 1 &3 58 as0sb Gog) o8 ey deoss 3 wowd k' Denss
4 -4 2 -2
A) 3 B) EY )] 3 D) 3
. The value of log133 = ( )
4
lo 13 G Denss
g5 )
4
-3 —4
A)1l B) " C)-1 D) 3
. Choose the correct matching. ( )
DOFS 23 BHBED XY E 0.
a) If x? =7 then 'x' is 1) Irrational number
X% =7 oond 'x' &8 s8dod Somg
b) If y = 1000 then logj, is ii) Prime number
y = 1000 ©ond logi, &8 B Sosy
c) For what value of p, iii) Rational number
Jp is always irrational ? o85BS Doy
p BB D e \fp dede
S8 oy ?
A)a—1,b—ii,c—iii B)a —iii,b—ii,c —1i
C)a—ii,b—iii,c—1i D)a—i,b—iii,c—ii




6. If AcB, n(A)=25,n(B)=35then n(AnB)= ( )
AcB, n(A)=25n(B)=35ow3 n(AnB)=

A) 10 B) 25 C)35 D) 60
7. Match the following : ( )
2B SEHAw.
P) AUB i) {x:xeAxeB}
9 ANB ii) {x:xeAxeB}
r) A-B ill) VxeA=xeB
s) AcB iv) {x:xe€A or xe B}

{x:x€ A¥> x€ B}
A)p—iv,q—oiil,r—ii,s > 1 B)p—iv,q—i,r—ii,s—iii
Op—i,gq—oiv,r—iii, s —>ii D)p—ii,q—iil,r—>iv,s —>1i
Read the following paragraph. By understand it answer the questions '8' and '9'.
"A, B are two non-empty sets. The union of two sets A — B and B — A is called the
symmetric difference of the sets A and B and it is represented by A A B".

(Bods aSedd 2o SEaHSe. A @go BT ooe (BEew 8 S0k Yo Jhrgraren
(eSS0,

"A, B en 3o @3&56 SeHen. A — B 5080w B — A o3 Bodh $uée éﬁ)&é@@& A, B
B WS Fo wotrd Ko BV AA B & &rdxd.”

Now answer the questions 8 and 9.
2D ‘B H0dEs ‘Y (HHot BErETes (Frdsed.

8. Venn-diagram of A A B. ( )
A A B &g 35 Q@cw.

feg el
A B u A B u
== o5

9. A ABisalso equal to ( )
A A B 828 &rre $8mb5w.

A) (AnB)U(AUB) B) (AuB)n(AnB) C) (AUB)-(AnB) D) (A-B)n(B-A)




10.

I1.

12.

Statement-I : If p(x) and g(x) are two polynomials such that g(x)=0 and

p(x) = g(x) x q(x) + r(x) here, r(x) = 0 or degree of r(x) < degree of g(x).

Statement-II : If p(x) = x? — 5x + 3 is divided by g(x) = x — 3 then the remainder is a
constant. ( )
A)Both I and II are true and I is supporting II.

B) Both I and II are true, but I is not supporting II.

C)1is true, but II is false.

D)1 is false, whereas Il is true.

©8880-1 @ p(x) HoBcs» g(X) en To adodten g(x)#0 Hdckw p(x) = g(x) x q(x) + r(x)
edhgoty &3, s 1(X) = 0 Soe 1(X) Horwo < g(X) @oE) HOPw0.

B5550-1I1 1 p(x) = x> — 5X + 3 0058 g(X) =X — 3 3 grAodSend do & o8y,

A) I 5508050 11 Botir Hegsn Sodako I, I & ézﬁ)g@o&.

B) I 508080 11 Botir &5 =9 11 & ézﬁ;goécﬁ.

O) I S5 59 11 esibefgiion.

D) I enxdsessssm eondin®8 11 e

Read the statements given below.

. If the polynomial p(x) = 253 —kx% + 5x + 2 is exactly divisible by (x + 2), then k =—6.

II. If the polynomial q(x) = x> — 7x + k when divided by (x — 1) leaves the remainder 2,
then k = 6.

Which of the above statements are / is not true ? ( )
A)I only B) Il only
C) Both I 'and IT D) Neither I nor II

Bob BdSmed Sthdde.
I p(x) = 2x> — kx? + 5X + 2 0 008 (X +2) 3 o erhosnsd k =—6.
1L q(x) = x> — 7x + k o 250569 (x — 1) 3 gohd 3o 2 wond k = 6.

2 BSres® 50 /8 wdgo ?

A)] SrE B) II $m(83
C) I 50805 11 3otk D) [ s, 1l 2%
If o, B are the zeroes of the polynomial ax? + bx + ¢, then (oc2 + Bz) =7
o, B e ax> + bx + ¢ o aoHs kg Denden wond (0c2 + Bz) =7 ( )
aZ —2bc b2 - 2ac
A) T B) =3
2 2
a“ +2bc b“ +2ac
O =2 D) =3




13.

14.

15.

16.

17.

If x =—y and y > 0, which of the following is wrong ? ( )
X = —y L8a y > 0 oow@ (Bod AE® D& o ?

1 1
2 — P —
A)x7y>0 B)x+y=0 C)xy<0 D) y 0

Match the following. ( )
a) Solution of p) x=2,y=-2

ax tby=a—b

bx—ay=a+b

JE 08B ;&S
b) Solution of qQ x=1,y=-1

3x-2y=10

Sx+3y=4

& DE0EBe FS
c¢) Solution of r) x=3,y=1

2x -y =5

3x +2y =11

$E08Bere ;&S
A)a—>qg,b—op,cor B)a—>p,b—>r,c—q
Cla—>r,b—o>p,c—q D)a—rb—>qc—p
In a cyclic quadrilateral ABCD, it is being given that ( )
ZA =(x+y+10)°, 4B =(y+20)°,£C=(x+y—30)°and D = (x +y)° then ZB=?
o8 Scs S&Byeo ABCD &

ZA =(x+y+10)°, 2B =(y+20)°,£C = (x+y—30)°%60» /D = (x+y)° @ a?é(saa&éégowé ZB=7

A) 70° B) 80° C) 100° D) 110°
The pair of equations y = 0 and y =—5 has ( )
y =0 508050 y = -5 e $ddere a8 SOA GoHie.
A) One solution B) Two solutions
28 ;&S Bo J;den
C) Infinitely many solutions D) No solution
©J08 JPLHen MBS GOBLD

2

Statement-I : The equations x“ + x + 1 = 0 has both real roots. ( )

Statement-II : The equation ax” + bx + ¢ = 0, (a #0)has both real roots, if b> — 4ac > 0

Choose correct option I and II are true and II is the correct explanation to I.
A)Both statements I and II are true and II is the correct explanation to 1.
B) Both statements I and II are true and II is not a correct explanation of I.

5




C) Statement I is true, but II is false.
D) Statement 1 is false, but Il is true.

(@5SSo-1 - X2+ X+ 1 =0 o $588na0 Bok T3S Soreredn EOA adwotnod.

BSSS0-I1 : ax? + bx + ¢ = 0, (a=0)eH $&u88wo, b> — 4ac > 0 wandeowd, Bo TS
Soeeredy EOA abhotlo.

2 BSSrets 504000 BTN JSErTrR) S,

A) 550 1 dako 11 Bokr S50 obasw I, I8 H0Ghs Ddtes.

B) @580 1 08ako 11 Bokr b0 £obasw 11, I8 $85hs Dddes soeh.

C) @550 18850, 509 1T exdegso.

D) 5350 1 edgso, 529 11 $so.

The roots of the equation 2x — % =1 are ( )
2X — % =] 3 35888 Suweren
1 3 3 -13
-1 21 Z-1 i
A)z’ B)z’ © 2’ D) 272
Which of the following is not true ? ( )

A) Every quadratic equation can have atmost two real roots.
B) Some quadratic equations do not have any real roots.
C) Some quadratic equations may have one real root.

D) Every quadratic equation has two real roots.

Bob % D6 wddsn ?

A) (8 S8 $o88emo KOHOM™ Both Larerein EOA Gotmod.
B) &9y 8 $808Bemen DenHod RS Swrered EOA GokD).
C) &) 58 $08Berren 2.8 a8 TKH Sorerd) DA SoBHEY).

D)8 $8 %0880 Both TGS Sureroty DA eotrow.
Which of the following is a quadratic equation ? ( )
Bod AS° D6 a8 e} $&n8Bes0 ?

A) x2-3Jx+2=0 B) x+d=x2
X
1 2
C) X2+x_2=5 D) 2x? —5x = (x-1)




21.

22.

23.

24.

25.

26.

27.

28.

The sum of n terms of the A.P. v/2,48,18.4/32,......... is ( )
V2,\8.A18,432,....... o A.P. & n Sore 3ndo.

1 1
Al B)2nn+1) O on@m+1) D) En(nﬂ)

If (x + 2), 2x, (2x + 3) are three consecutive terms of an A.P. then x = ? ( )
(X +2), 2%, (2X + 3) 059 2.8 A.P. &° sarthy 56 Srpoond X = ?

A)3 B) 4 05 D)6

The sum of n terms of an AP is given by S_ = (3n2 + 5n). Which of its terms is 164 ?( )
25 AP. & ndwe 3o S_ = (3n% + 5n) o afwdod. & AP. & J65 S0 164 eHKod ?
A) 25 B) 26 C) 27 D) 28

If (a—2),8, 16 are in GP. then a= ( )
(a—2), 8, 16 9552 GP. &* &0 a=

A)6 B) 4 0)2 D) 10

In the given figure A(0, 2y) y

and B(2x, 0) are the end points
of the line segment AB. The
coordinates of point C which

A(0, 2y)

is equidistant from the
three vertices of AOAB are 9) B(2x, 0) ( )

(80K He088 AB oF Sgrpoo D56 y'
Boohen A(0, 2y) Hbaw B(2x, 0). wowd AOAB &° (@gbe dopp K00& K8 drdos® Ko
Bothy C ) Jvrsdseen

A) (x.y) B) (. X) 0) (55) D) (5’5)

If the points A(1, 2), O(0, 0), and C(a, b) are collinear, then ( )
(1,2), 0(0, 0) 08050 C(a, b) HothrHen $Bireons,

A)a=b B)a=2b C)2a=b D)a+b=0

A4, 3), B(3, 4), C(-3, —4) are vertices of a triangle. The length of median through A on
BCis  units. ( )
A(4,3),B(3,4), C(-3, 4) 05 2.8 (Bgbes dopgen.

A o BC 8% Acbods Siyiade 6 dbm

A)4 B)5 )6 D)7

If(x,y) eQs then(=x,y)e ( )
(X, y) €eQood (X,y)e __

A)Q, B) Q, 0 Q; D)Q,

7




29. Read the following statements. ( )

30.

31.

32.

33.

I. Any two similar figures are congruent.
II. Any two congruent figures are similar.
III. Two triangles are similar, if their corresponding sides are proportional.
IV. Two triangles are similar, if their corresponding angles are equal.
Which of them are true ?
A) IT only B) II, IIT only
C) I, 111, IV only D) All
Bob BdSmed Sthdde.
. O Both BB DHereonme SBdsrSo.
II. & Botd DEH&PS DereonTe SErare.
Il ©%8rd gheren wdardos® ¢o8, windod Bok (Bgharen SErareD.
IV. @585 Seren dEmborr 608, @tndod Bow (Beberen Sdmare.

DBE® DD k5o ?

A) 1T £33 B) II, III &35
O) IL IIL TV (&3 D) o)
The value of 'x' for which DE // AB is ( )
DE // AB ex&gtenod X' ensd A
A)4 x+3 X
B)1 D E
0)3 3x+ 19 3x+4
C
D)2
AABC is an isosceles triangle in which £C=90°. I[f AC = 6 cm then AB = cm.
Z£C=90°re &othdty AABC a8 Sobersso (@gbeso. AC =6 0.8, @wand AB = 20.8.
A) 62 B) 6 C) 26 D) 42 ()

A man goes 24 m due west and then 7 m due north. How far is he from the starting point?
a8 A% HYyvore 24 &, ©0H% 7 &b, e8Bore S&Ter. 0B [ @‘360253550 Sod dos

ErB06® G ? ()
A)31m B) 25m C) 17m D) 26m

In the adjacent figure, if A

PA=4cm, BQ=3cmand

AC =11 cmthen BC=? P R

(%8 Heosws® PA =4 20.8. BQ =3 0., 55605 B

AC =11 20.%. @ond BC =? Q ( )
A)15cm B) 14 cm C) 7 cm D) 10 cm




34.

35.

36.

37.

38.

In the adjacent figure, CA and CB are tangents, ZAOB = (3x+5)° and ZACB =(x+3)° then

the value of 'X'is ........ A ( )
%) H008® CA H8asw CB en $80pes LAOB = (3x+5)°

5080w ZACB = (x+3)° @ond 'X' Dens ‘ 4{%

A) 90° B) 43° B

C) 47° D) 180°

'O’ is the centre of the two cencentric circles of radii 13 cm

and 5 cm. If AB is a tangent of inner circle, then AB = A ‘ B
g - ’v

'0' 056 Both DEEoBEm e @) eSyd BolBsw. & Hzee

F5PTEen 13 20.0. 8a0 5 0.8, AB 0kt @08t Einssd
éo)égésp wond AB =
A) 12 cm B) 24 cm C) 11 cm D) 22 cm ( )

Statement-I : If the volumes of two spheres are in the ratio 27 : 8, then their surface areas
are in the ratio 3 : 2.

4 .
Statement-II : Volume of a sphere = ERR3 and its surface area = 4nR2. ( )

Now choose the correct statement given below.
A) Both statements are true.

B) Both statements are false.

C) Statement I is false, but II is true

D) Statement 1 is true, but I is false.

B5580-1 : Both FP¥kme H5BBLITRIve Y 27 : 8, wond o2& ekdde FTreo s 3 1 2.
4
5sso-1l : a8 figo G, Foi0iErem0 = TR $6a5» D 6560 Brego = 4Tk,

B (Bod RS BOTK Brrrard) S ek,

A)Boto (ST D50

B) 8ot (@&stren b0

C) B5580-1 &0, 1T D50

D) %350-1 3850, 509 1T edeso

The number of cubes having edge 1 cm made from a cube with volume 125 cm? are

125 20.80.3 H5HBETE0 K 2.8 00 08 SOTEHTEHES 1 0.8, wohre Ko ST dogy

A) 125 B) 100 C) 50 D) 75 ( )
3 cos? 60° + 2 cot? 30° — 5 sin? 45° = ?

AT B) 01 D)4 )




39.

40.

41.

42.

43.

Which of the given values is never possible for 2 sin® where 'a' is a positive real number

and a=1? ( )

BoBDcHalS Denseos® a1 HBcn aad &5 TKS Doz @onIHE 2 Sind & deEr PG50

50 Dend d& ?
A) = B
) - )a
1
) a+— D) 2a
Which of the following are true ? ( )

8od & D& d&0 ?

i) sin’0 =1 — cos?0 i1) sec?® = 1 + tan®0
1) cosec?0 = 1 — cot?0
A) i, il B) ii, iii O)i,ii D) i, ii, iii
. . . A+B
If A, B, C are interior angles of a triangle ABC then  tan 5~ ( )
A+B
A, B, C e o039 (&2bz0 ABC &8, ©0888%men wond  tan 5=
. C C
A) sin B B) cos B
C C
C) tan — D) cot =
tan 23° — tan 51° + tan 39° —tan 67° = ( )
A)0 B)1 C)-1 D) ?

A pole of 6m high casts a shadow ./3y, long on the ground At that instant, the sun's
elevation is ( )
6 &. KD Ko a8 BB I 243 . TEY Ko &S DG, © gsaoéﬁ, g Kw&é?\)és Sfowsy

%aggéf’sao
A) 30° B) 45° C) 60° D) 90°

10




44,

45.

46.

47.

48.

For a frequency distribution, /=40, X fi =n=152, c¢f=28, =8, h=10 then the median=

o8 sy DereosH [=40, Tf.=n=52, cf=28, =8, h=10 ®and HggriBo =

A)45.3 B) 45.75
C)52 D) 54.33
Median of %X%%% is 13 and x > 0 then the value of x

TRy O T Higigo 13 50w X > 0 ead X' e
A) 39 B) 52
C) 65 D) 26

’l % . 1 .
If the mean of 'p' and b 18 'M' then the mean of p3 and —5 is
p

’l 9 1
P ba T o ¥ox0 M wond p’ 500 3 © TG =
p

A)M? B) M3 +3
) M2 —3}
C) M(4M2 - 3) D)~ M

«C )
C )
«C )

The mode of the data 3, 1,4, 3,5, 7, 3,9, 3isx + 1, then the value of 2x2 +3x + 1is .......

3,1,4,3,5,7,3,9, 3 0 oo aesotio X + 1 oowd 2x% + 3x + 1 @) Densd

A) 11 B) 13

C)6 D) 15

Match the following.

a) The probability of an impossible event = i) 0

b) P(E) + P(not E) = i) %

c¢) The total no. of possible outcomes when i) 1
a coin is tossed.

d) The probability of an event is 50% iv) 2

its value is ............

11

C )




49.

50.

Choose correct matching.

A)i—>d,ii—>ciii—>biv—oa
B)i—a,ii—c,iii—>d,iv—>b
C)i—a,ii—d,iii > b,iv—o>c

D)i—d,ii—>b,iii—>c,iv—a

2385850,

) ©KoYD ol GwE) Hogrss i) 0
b) P(E) + P(not E) = i) %
C) a8 TBSN> MOEIVSH o iii) 1

DLgSRSWe bogg
d) 2.8 o3 Bogrsgs 50% wond 0 Dend iv) 2
A)i—d,ii —>c,iii—>b,iv—oa
B)i—>aii—>c,iii—>d,iv—>b
Ci—aii—>diii—>b,ivoc

D)i—d,ii > b,iii—>c,iv—a

The probability of guessing the correct answer to a certain test question is % If the
.- . . .. 2

probability of not guessing the correct answer to this question is 3 then'x'=? ( )

28 OGS o8 BHS VODK VEFETY YT SogEs % o S058° © BHRS BES

2
JSoegedo am&geéésbﬁé)éaé) dogrsys 3 @ond 'X'=?

A)?2 B)3 04 D) 6

If E is an event, and P(E) is its probability then ( )
E 2.8 o0 500080 P(E) oo Sogrigd wond

A) 0<PE)<1 B)0<P{E)<1

C)P(E) <0 D)P(E)>1

12



51.

52.

53.

54.

55.

PHYSICAL SCIENCE

Which of the following statement is true with respective of temperature scale ? ( )

SEEHSLHS HBore &8 (Bob S DB D50 ?

A) 300K =27°C B) 300°C = 27K

C) 300°C = 300K D) 0°C = 0K

The amount of heat utilised to convert 1 kg ice cube at —10°C into water vapour at 100°C
is K. .Cal ( )

—10°C 5808 1 kg oo 80 100°C Ko IS e Sr)erds SEat 6538 Sndo
8 Seben.
A)7.25 B) 72.5
C) 725 D) 0.0725
is not base in the following. ( )

Bod 7S° 8w =8

A) NaOH B) CH,COOH

C) Ca(OH), D) KOH

If the pH value of a rain water is then it is called acid rain. ( )
385 % ¥ pH Densd wand @ JHT°R) By SEo WoLr.

A)pH <5.6 B) pH> 5.6

C)pH=13.6 D)pH>13.6

Identify the Material medium in which light travels faster when compared with the
remaining three in the given table. ( )
Bots e BBES® &X) O Dog cISEeS® e e HoY oY BT 208 o JEH
&0eno&® HBoS0s.

Material Air Kerosene Benzene Turpentain oil
medium

S8 oo ™ 85%5 BodS &ESBS wows
Refractive Index 1.0003 1.44 1.50 1.47
828 thoesto

A) Air e® B) Kerosene 85%8

C) Benzene B0£S D) Turpentain Oil &8S8S sond

13




56.

57.

58.

A :  Diamond shines brilliantly.
R :  The critical angle of diamond is high. ( )

A) Both (A) and (R) are true and R is correct explanation of A.

B) Both (A) and (R) are true and R is not correct explanation of A.
C) Ais true and R false
D) A is false and R is true.

A1 Sleo BoedSosorr BHEik0s.

R  Sleo &8 S0bys%eo . ( )
A) (A) 5835 (R) 58550 60 (R) e5e A Eng) $6GH0 9586.

B) (A) %805 (R) $egsm $080m (R) @i A Gog), K0G0S Db .

C) A Xe55m 080w R ek,

D) A e:de5s5m 5605 R 5w,

When a light ray travels from one medium to another medium of different refractive indices
then it's will vary ( )

A) Frequency, Velocity and wavelength
B) Wavelength and velocity

C) Frequency and velocity

D) Frequency and wavelength

2.8 088880 2.8 dirdEo Hod DY SEe58 o Ko 678 aiesBost (BSTBD o
Soedzeow.

A) FPeds0, FK50 HoBd» ééo?‘i@_g 0

B) 880188 50 5805 SKo

C) ez o0k Biso

D) argedigo $5o8akn 8038 50

Arrange the following colours in Ascending order with repective of their frequency

Bobd Borbe @ LITNe Wrdorr wttiren (B0 @d)od ( )
A) red, blue, yellow, green 285, doo, $5), @)

B) blue, green, yellow, red Qeo, w50, $:09, doo

C) red, yellow, green, blue 2%, $:%, @5, doo

D) red, green, yellow, blue 2%, %0, $:00, doo

14



59.

60.

61.

62.

63.

The Doctor will recommended for treatment of Myopia is ( )

A) concave lens

C) triangular prism

(EPRReR Aaetead> wgb BD&FB0B6
A) Hersedo Berdo

C) @eherses 8o

B) convex lens

D) plane galss

B) %ogrse8 S0
D) 3080 rre

Which of the following applies Bohr's model Assumption ( )

1) Idea of stationary orbits

3) Line spectrum of Hydrogen

Bod S &6 Sturar (HBESen HBoBY
1) 38 850 980D EISRN

2) o) efrder BY Hases 858" torwo
3) %S’ 85 Ry (ise &)

4) $85me09S5 aoLsegS 38 1oedosried
A)1,2,3,4 B)1,3,4
m, value for /=2

[=2 % m, Deoid

A)0

C)-2,-1,0,1,2

The radius of an atomic nucleus is
Do) Solgo @nE) Yo

A) 10710

C)1071

2) Orbital are all in eleptical shape

4) Energy of electron in atom is quantised

0)1,2,3 D)2,3,4

B)-1,0,+1
D)-3,-2.-1,0,1,2.3

cm. ( )
20.80.
B) 10713
D) 1078

A conductor is moving with a speed of 10 m/s perpendicular to the direction of magnetic

field of induction 0.5T. If the induced emf is 5V. Then length of conductoris  ( )

0.5T ©chIosZ8 (S a8 wadod g8 vomorr 10 &/, JKos® a8 s arso

BErBRHG. TS (208 gTeE 200 SV eond & TRt TEH

A) 25 mm
C)4m
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B) 0.01 m
D)1 m




64.

65.

66.

67.

68.

Which of the following element has zero electron affinity
A) Flourine B) Nitrogen
C) Neon D) Oxygen

Bod Q8° 328 oSS BB Ky (0)

A) £868 B) 3(¢5*=S
C) dcsrS D) es8yesS
is the largest size in the following element, (with respective of atom)(
Bod st K85 H0HPeR) (SBXeeaBBorr) 88 eob.
A) Ca B) Ni
C) Cu D) Zn
Which of the following has more bond length (

Bod AS° B8 worsrso BN,

A)H-H B)F-F

C)Cl-CI D)I-1

The electric resistance of an open circuit is (
A) Infinite B) Zero

C) Negative D) Sometimes negative and positive

889 &) Sechos® DS QBBES Dend

A) odoso B) o)
0] @S0 D) &8 %o, S3 e a0
1Q
2Q 3Q
A® 1Q ® B
The effective resistance between A and B is (

A %668 B o o 998 96555
A)3.5Q B) 6Q
C)7Q C) 5.50
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69.

70.

71.

The force working on a +ve charge q in the following diagram is

B
XX XXX
XX XXX
v X X X XX
A) Towards West B) Towards South
C) Towards East D) Towards North
B0 He0s® q Frddop KT wwo
A) $HHDITHEE B) 88003:0:5%
C) SrnI9ss D) &880 SH5%
Match the following
1) Epsom salt ( ) P) MgCO,
2) Bauxite ( ) Q) MgSO, . 7H,0
3) Magnesite ( ) R) KC/MgCl,6H,0
4) Carnalite ( ) S) Al,04.2H,0
QBHGL08.
1) a0 oo ( ) P) MgCO,
2) asvg)eﬁ ( ) Q) MgSO, . 7H,0
3) Sy ( ) R) KC/MgCl,6H,0
4) s58ew ( ) S) Al,04.2H,0
A)1-P, 2-Q, 3-R, 4-S B) 1-Q, 2-S, 3-P, 4-R
0)1-Q, 2-P, 3-S, 4-R D) 1-Q, 2-R, 3-P, 4-S

2Al +Fe 05 — ALO, + 2Fe + Heat is an example for

A) Thermit reaction B) Poling

C) Electric refining D) Liquidation
2Al+Fe,0; — ALO; +2Fe + &0 36 _ sweiede.
A) $8)E5 <S55 B) 2800/

C) DS G, D) (5985e
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72.

73.

74.

75.

IUPAC name of H,C - C = C - CH,

A) But-2-yne B) But-2-ene
C) But-1-ene D) But-1-yne
H,C-C = C - CH, &%) IUPAC &0

A) ar5-2-08 B) a5 -2-&3
C) argtS-1-83 D) axgt5-1-08
Which of the following is not a crystaline form of carbon
A) Diamond B) Graphite

OC D) Lamp black

60

Bod &* 5)BEEE =S Erio =06
A) Sleso B) ¢

C)C D) 83r0K5 £

60

The Air bubble in the water behaves like a

A) Converging Lens B) Diverging Lens

C) Transparent Glass D) Non-transparent glass
DB aod O el e [H58%08.

A) Bolbsse S50 B) 9808886 Ses8o

C) 8555 rees D) o6655)% ree

Ohm's law is not applicable to
8.8 Do)y aPBolHe
A) Fe B) Ge

C)Au D) Ag
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76.

77.

78.

79.

80.

BIOLOGICAL SCIENCE

Podocytes occur in system. ( )
A) digestive B) respiratory
C) excretory D) reproductive
DBEF e :655668 EQ)Tow.
a ™ - — @ -0
A) &8 B) &%
C) 58 D) (8558
. . . , light -
In the light dependent reaction of photosynthesis, the reaction, H,O = © phyll H"+ OH,
is ( )
A) photophosporylation B) photolysis  C) glycolysis D) oxidative phosporylation
S°0& + =
88eaesily DoRrriBaSH &) St’oéézﬁé?gé’s, HZO ————  H" + OH, %56
HlEBE0
A) 5208 geRxsSesn B) sc08 O35k
C) B0 D) es&yses R EEeasD
Proteins are converted to peptones with the action of enzyme in duodenum.
A) Trypsin B) Pepsin C) Ptyalin D) Lipase ( )
80([BLre0ED ATES @) Sogdy BB, DY ErthEean.
A) ®%)S B) 2% C) 20908 D) 8o&

Observe the following table and fill up the empty box with appropriate form :  ( )
Bob B&5H 988000, ard KB KB ErBSE® YrooHKw.

Y y

Y ? Yy

y Xy yy
AYY B)Yy O yY D) yy
The digestive system spreaded as numerous branchesin . ( )
A) Jelly fish B) Leech
C) Cockroach D) Fasciola
& 4D &g a‘-‘ig zﬁegéé BgFHmepent B0 Hoewod.
A) 2038 B) @0 C) &6o8 D) aragirer
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81. The following Legume plant is grown on the farm bunds to strengthen the bunds and to

enhance the Nitrogen source in the soil ( )
A) Pea plant B) Gliricidia C) Bamboo D) Maize
156 @00 Hoiow, Jos® Je°asS Jetes BEROKD Brere Key b DOBRE BT F0Y)
A) 2o 308 B) Bedb&ase C) ot D) Sw&)E°S)
82. Match the following ( )
Group-A Group-B
i) Bolus a) small intenstine
ii) Chyme b) stomach
iii) Chyle ¢) mouth
A) i-b, ii-a, iii-c B) i-c, ii-a, iii-b
C) i-c, ii-b, iii-a D) i-a, ii-c, iii-b
(S-A ((%-B
i) &Pl a) DLyard
il) & b) dpdaho
iii) 35 ) S*
A) i-b, ii-a, iii-c B) i-c, ii-a, iii-b
C) i-c, ii-b, iii-a D) i-a, ii-c, iii-b
83. The plant that is essential for the production of varnish ( )
A) neem B) cassia C) Jatropa D) Pinus
TOR $oO8 cre Fol) OBHED
A) 3D B) $0R& C) e3¢t D) 288
84.
(] ) ‘ “
The above diagram supports the evolution. ( )
A) divergent B) micro C) parallel D) convergent
D Beosw BB HHGRB.
A) e538 B) &%y C) $srods D) s
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85.

86.

87.

88.

89.

90.

The colour of chlorophyll-b is ( )

A) yellow-green B) yellow-blue C) blue-green D) orange-green
£65S5-b Sord
A) $H-edded) B) £:05-de0 C) deoo-wid) D) o°8oes-eHns)

Identify the place of fertilization in the above diagram. ( )
D Heodw S0 HobEBED BB (HEELN HBoBo8.

A)1l B)2 03 D) 4

In cell cycle, the cell organelles divide in phase. ( )
éeeiﬁ[_ééaaée, Besrorren sl Joh &8

A) Gl B) S C) G2 D) M

As Mg occurs in chlorophyll, ~~ occurs in haemoglobin. ( )
£56%S Kot Mg $8, IeiHS $otH Ho&do.

A) Fe B) Cu C) Zn D) Hb

The amount of energy transfer from primary consumer to secondary consumer in the picture
is joules. ( )
Be0S® (B DAGPKRTE K08 BB MTPKTEHD 26O b 8 Fwdkn 5,

A) 100 B) 10 O)1 D) 0.1
Green gland, malphigian tubules occur in the excretory system of ( )
A) Annelids B) Arthropods  C) Molluscans D) Echinoderms

08 (Nogoen, eﬁw@‘gﬁo‘éﬁ IDEen S BHeo DL Eﬁééééﬁ SHETToWE
A) 0285 B) egfire C) IwoySen D) 2gSaben
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91.

92.

93.

94.

95.

96.

97.

One of the following belongs to mid brain

A) diencepholan B) medulla oblongata
C) cerebellum D) optic lobes
Bod TUS° .88 g HSEHB BothEod.
A) Tt B) soepsingso
C) o002 D) §§ &gren
The male reproductive part that produces the sperm cells in humans
A) epididymis B) scrotum
C) seminiferous tubule D) vasdeferens
SPEIV DR (D&ERES égﬁéé’s BHEEero HEY Boko grrsm
A) IHEEXD B) sosiyted
C) BEfamss 8% D) &gaeers
One among the following can live without oxygen
A) Cuscuta B) Yeast C) Mucor D) Mimosa
Bod St edyeS SHhowe EoBKING
A) e B) o C) S D) 0&58
Glucose level in the blood is maintained by-system
A) circulatory B) nervous C) endocrine D) excretory
850 88 rowd JaHo@oH 558
—o [ @
A) 55880 5553 B) && &5:5%
©) @oéﬁ@?\)c‘b B D) D288 5558
The common feature seen in Rhizopus, Bacteria, Mass and Fern is
A) sporulation B) binary fission C) conjugation D) budding
355, arfodsr, $78, PGEE® 80 Ly oFpsn
A) 25ds%8)8 B) &m0 C) Bodersdn D) 8%68e5555m
The following hormone works in duodenum
A) Amylase B) Trypsin C) Secretin D) Lipase
& Bod aUS® eo(Bhureotnd® HQFck 556‘25
A) o8E B) @S C) 2883 D) 8o&

Prothrombin —— Thrombin

Fibrinogen —2, Fibrin

1 and 2 in the above equations are respectively

A) Thrombin, Thrombokinase B) Thrombokinase, Thrombin
C) Thromboplastin, Thrombokinase D) Thrombin, Thrombocynin
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98.

99.

100.

@rods —L, ods
2OBS 2,308

2 $oo88erost 1, 2 SEHBP

A) 5r0dS, [Eros’33E B) prosB3E, 500dS

O @023%;?85, (@ro&*33E D) [@09§, [@os®ahlS

The nerve that controls the movement of jaw ( )
A) 1% cranial nerve B) 3" cranial nerve

©) 5t cranial nerve D) 10" cranial nerve

BRI BBOE dcdho@oid &

A) 15 Saromrd B) 3% Saroced

C) 55 srord D) 108 garomd

Identify the Sexually Transmitted Disease caused by viruses ( )
A) Gonorrhoea B) Syphilis C) Cholera D) HIV-AIDS

SR Txoe SoEotd STD

A) K3805° B) 2395

C) gooe D) HIV-AIDS

A normal cell of human body contains 23 pairs of chromosomes. The number of
chromosomes in a sex cell normally .......... ( )
A) 46 B) 46 pairs C) 21 pairs D) 23

a8 SPSHY TO8E Swod® 23 mde (EBrAoen Hotrow. ©8 SPEHY dDzswos® d
(B8R Soenotrom.

A) 46 B) 46 oo

C) 21 esgBew D) 23
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1)B
6) B
11) D
16) D
21)D
26) C
31)A
36) C
41)D
46) C

51)A
56) C
61)C
66) D
7HA

76) C
81)B
86) A
91) D
96) C

KEY

MATHEMATICS
2)C 3)A 4)C
7)B 8) A 9) C
12)B 13) D 14) A
17)D 18) C 19)D
22)C 23)C 24)A
27)B 28) D 29) C
32) B 33)D 34) B
37 A 38) B 39) C
42) A 43) C 44)B
47)D 48) C 49) C
PHYSICAL SCIENCE

52)C 53)B 54) A
57)B 58) C 59)A
62) B 63) D 64) C
67) A 68) D 69) D
72) A 73) D 74) B
BIOLOGICAL SCIENCE

77) B 78) A 79) A
82) C 83)D 84) D
87)C 88) A 89) C
92) C 93) B 94) C
97) B 98) B 99) C

5D
10) A
15)B
20) D
25) A
30) A
35)B
40) C
45) A
50) A

55) A
60) B
65) A
70) B
75) B

80) D
85) A
90) B
95)A

100) D
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